Replacement Parts List

Manufactured by

INFRARED DYNAMICS, inc.

Yorba Linda, CA92886 U.S.A.

Tel: (714) 572-4050 Fax: (714) 572-6093
Toll-Free: (888) 317-5255

www.infradyne.com

Item Part No. Description
1 70017 Nut, %-20 Hex SS
2 70024 Washer, s SAE SS
3 10261 Reflector, PH
4 70006 Bolt, % x % Hex SS
5 70033 Washer, ¥ Inter SS
6 27006 Assy, PH Emitter Grid
7 70025-2 Clip, Stainless Steel
8 30225 Shield, PH heat
9 30202 Pan, PH Head

10 70005 Screw, #8 x 2 SP SS

11 30204-1 Cylinder, PH Perf (7000)

12 27007 Assy, PH Burner Pitd

13 70030 Clamp, 1"

14 35001-31 Orifice, #31 DS (Nat)
35001-49 Oirifice, #49 DS (Propane)

15 35012 Adapter, Orifice %

16 90002-3 Control, 7000 MRLC Nat
90003-3 Control, 7000 ERLC Nat-24V
90004-3 Control, 7000 MLC-Propane

17 80005-1 Nipple, % x 1% Blk

18 80025 Reducing Bushing, % x 2

20 27018-1 Assy, PH H Base
27018-2 Assy, 24V PH Head Base

21 90031 Thermocouple T46518

22 80031 Tubing, AL-% x 14L

23 90021 Pilot, Natural #27919
90022 Pilot, Propane #27920

24 90015 Natural Pilot Orifice
90016 Propane Pilot Orifice

25 30258 PH Pilot Shield

26 27025 Assy, 7000 Handle

27 30213 Channel, PH Pilot

28 70020 Screw, #10 x 1%4'SS

29 30299 Cover, PH Pilot Hole

30 80026 Tubing Fastener-'."



http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70017
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70024
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10261
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70026
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70033
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70025S
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30225
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30202-2
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70017
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70024
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10261
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10261
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10261
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10261
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70024
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70033
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27006
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70025S
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30225
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30202-2
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30204-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30204-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27007
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27007
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27007
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70030
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=35001-31
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27017
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30299
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30213
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70025S
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70005
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70030
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=35001-49
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=35012
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=35012
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=35001-49
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10298
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10298
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27025
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90022
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90022
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10299
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=10300
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90031
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80026
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80026
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30299
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=70020
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=30213
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27025
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27017
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90016
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90015
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90022
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90021
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80031
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90031
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27018-2
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27018-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=27018-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80025
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80005-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80005-1
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80025
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=80031
http://www.patioheat.com/Merchant2/merchant.mvc?Screen=PROD&Store_Code=P&Product_Code=90031

The Original
Outdoor Patio Heater

A270 Parts List

Item Part No. Description
1 60008-1 Lighting Instructions
2 30280 Post, A270 — 45" L
3 80006-4 Pipe, 42" Black
4 70011 Nut, %s Acorn
5 70013 Washer, %/s Lock
6 70007 Bolt, s x 3/L-SQ
7 70028 Eyebolt, 3/1es2 w/Nut
8 70012 Bolt, %s-16 x 1 '/a
9 70059 Nut, 3/s
10 10264-4 Assy, A270 Base Sun
11 300279-5 Univ “L" Bracket (24)
12 70029 Hook, 1 2" S
13 70027 A270 Chain
14 27033 Assy, A270 Dec Cover
15 90017-4 Assy, Reg/Hose QCC1
16  90017-5 Assy, Reg/Hose QD
17 90018 Tank Fill Adapter
18 27002-4 Assy, A270 Socket
19 80085 Reducer, '/, x /"
20 90078 Adapter, #250

Manufactured by

INFRARED DYNAMIGS, c.

Yorba Linda, CA 92886 U.S.A.

Tel: (714) 572-4050 Fax: (714) 572-6093
Toll-Free: (888) 317-5255

www.infradyne.com




i MODEL A270
{]I:I(’: d%?lll’]:tliu Heater PORTABLE PATIO HEATER

Optional Spark Ignition System

R

o

o

No. | Part No. Description

1 90065-2 Electrode with lead

2 70037 Screw, #8-32 x 3/8

3 70038 Nut, #8-32

4 30623-3 Ignitor Cover

5 70072 Screw, #8-32 x 1/2 SS
6 30623 Bracket, A270 Ignitor
7 30629 Plate, Ignitor Ground
8 90072 Battery, AA 1.5 Volt

9 90071 Ignitor, BP-E1

10° | 70066 Screw, #10-24 x .250L
11 30204-5 Cylinder, PH Perf SS

‘Item not shown

Manufactured by

INFRARED DYNAMIGS, wc.

Yorba Linda, CA92886 U.S.A.

Tel: (714) 572-4050 Fax: (714) 572-6093
Toll-Free: (888) 317-5255

www.infradyne.com




	Page 1
	Page 2
	Page 3



